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(1) Ia9 (TOET DY TE) 12,00,000 RollNO......ccvn....
2) AeE |l w1 fhvr 36,000
@)  drd®re Yol A 2,52,000 COM. 203/22
(@) ¥D AT W T AT 22,000 Il SEMESTER EXAMINATION, 2022
B ge BN m 50,000
() rcd ¥ Siia 35,000 M.COM. (COMMERCE
(7)  Sfras < SiffzE o1 grae 20,000 ( )
(8) TG Uifds< wos H e 75,000 PAPER - llI
(0) fufrear fmr hifem &1 9% R e 26,000
(10)  WEITHA IR HAETIAT BN H TH gRT g 25,000 TAX PLANNING AND MANAGEMENT
TIME - 3 HOURS MAX MARKS - 80
From the following particulars calculate tax payable by Abhinav for MIN MARKS — 16
the Assessment year 2021-22. M T d A Evsy, 7, 7,8 | st ey afte g
gue F — T T Eﬁi%q%ﬁsrag?vra% |
(1) Salary (Computed) 12,00,000 TS T — G F THE AF T AT |
(2)  Rent from house property 36,000 ‘
(3)  Long-term capital gains 2,52,000 U H - T TS WD T T FL |
(@) Interest from bank saving account 22,000 Note: This question paper has three sections A, 5, & C. All questions in every
(56)  Net Agricultural income 50,000 section are compulsory.
(6)  Winnings frqm Lottery ' 35,000 Section A — Attempt all multiple-choice questions.
(7) Paymf:nt 9f life 1nsuragce b remu'lm 20,000 Section B — Attempt one question from each unit.
(8)  Contribution to recognized provident fund 75,000 . ont _
(9) Premium paid by cheque on Mediclaim policy 26,000 Section C — Attempt one question from each unit.
(10)  Donation to P.M. National relief fund by cheque 25,000 &ve ' / Section 'A’ 2X8=16
sgfaseia w=1 / Multiple-option Questions
THATOR L WH W & forg aafadTd w9 4
q YT B A & R S I IR BR Brel ol 87 Tt A9 Ud STel AR AR
What are the payments on which tax is deducted at source. () #% g % !
(b) R Had BT E |
XXX (c) &TRT 40 (b) & ITid Wi RN qH B AT &Il 2 |
(d) 3T PR ATY BT 2|

P.T.O.
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Salary and interest received by partner is personally.

A) Taxable

B) Exempt

C) Taxable to the extent u/s 40 (b)
)

(
(
(
(D) Partially taxable

2. BT W B B TUMET BRI FaT MIDY Bl IR W 12% BT N

H MR T AT B AW w. W D T —

(A) 1 TS (B) 5 XIS

(C) 10 BXT$ (D) 15 BXT$
While computing tax on companies the amount of income tax will be
surcharged at the rate of 12% if the total income exceeds Rs.-

(A) 1 Crore (B) 5 Crore

(C) 10 Crore (D) 15 Crore

. ™ Pad 999 T I ¥ (T B, U9 dRardl @ forg fAuiRa e
3

(A) ITR -1 (B)ITR-2
(C)ITR-3 (D)ITR-4
Prescribed form for assesee whose income from salary amd interest
only -
(A)ITR-1 (B)ITR-2
(C)ITR-3 (D)ITR-4

4. I o) AR & grr -

(A) 140 (B) 143
(C) 145 (D) 147

COM. 203/22
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e arrell & SER R S geild AIfNY b 9 Aeier] 18 a1
BRI

o (N %.
(1) S B AT Bl A 75,00,000
(@) oRT 115JB @& 3=<id AT Y o™ 1,20,00,000
@) EEN @ @l 3MI &RT 10AA & 85,00,000

ST et
gta ey anfdie & § 92 venfid sars @
T 95,00,000%. TS & TgaTq

T ATNY {6 HOH @ 25% IMIHR + IRAlSl + wavey Ud e
SRR <4 B forv il

‘A’ and ‘B’ want to set-up a business. they have two options for
selecting a form of business organisation on the basis of following

information suggest whether they should form a partnership or a

company.

(1) Estimated total income of the company 75,00,000
(2)  Estimated book profit u/s 115JB 1,20,00,000
(3)  Estimated total income of firm after deduction 85,00,000

Rs. 95,00,000 u/s 10AA regarding newly
established unit in Special Economic Zone

Assume that the company is liable to pay income tax @ 25% +

Surcharge + Health and Education cess.

FhIS—IV/UNIT-IV
freforlRaa faaxront & ex—feivor 99 2021—22 & forU sif9g g
Y MY DHY I T BIfOTT |

P.T.O.
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HAIFT/OR
BH @ ATAR 3fRFAT U | 3T &I TUET B H eRT 40 (b) &
I I Hal B Bl G 57 IR A ARAT I |

Under section 40(b) what items are disallowed as a deduction while

computing firms income from business or profession? Explainfully.

$HE—II/UNIT-II
U BR FERET Y @1 @\ 87 g8 b uRReferal § e
ST B |
What do you understand by reassessment? In what circumstances

is it done?

AYFT/OR
I PN fAeReT U IR G SIA] ARE & yEwe
HHATRY |

Discuss the provisions of income tax act relating to filling of return of

income.

$HIE—II/UNIT-III
I T R B? TP LN 99 e & AFe H fhd bR
AT BR—CIRIT HH B DT 2 |
What is a ‘Bonus share’? How can a shareholder reduce his tax

liability regarding bonus shares.

AYAT/OR
‘31 3N ‘9’ Uh BNIGR 3INRT HAT I8d & | S9d A gl fadhey

2

(1) TRy g9
(2) B AT

COM. 203/22
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Re-assessment section is.
(A) 140 (B) 143
(C) 145 (D) 147
. P 3T IATHY R ST HH BT o—
(A) DX I (B) X 3T
(C) X forarer (D) ST wfl

To reduce tax liability by reporting less income-
(A) Tax avoidance (B) Tax evasion

(C) Tax planning (D) All of above

frfafad & 9 S9— ta goll 9wfa & e =8 8 —
(a) S (b) wTToT Y S

(c) I I8 CIRSUEE]

Which of the following shall not be regarded as capital asset —
(a) Jewellery (b) Rural Agricultural land

(c) Archaeological (d) Paintings

. YE XTI PR DI AU S oY FerAT ST ® —

(A) |TRY U4 el SudHR
(B) I1RH HR
(C) SITH T UX DIl AT dhXY
(D) Suda (B) Td (C)
The following is reduced to find out net tax payable -
(A) Health and education cess
(B) Advance Tax
(C) Tax deducted at sources
(D) Above (B) & (C)

COM. 203/22
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8. 3IUH HR YA H fdeT R TS < BIAT & URI... & IF<iia—
(A)234 A (B)234 B
(C)234 C (D)234 D
Interest payable for delay payment of advance tax under sec.
(A) 234 A (B) 234 B
(C)234 C (D) 234D

gue ‘T [ Section'’s' | 4 X06=24
Y AT THLR HAT 200-250 9T1)

Short Answer Questions (Word Limit 200-250 Words)

SHS—I/UNIT-I
1. TH AN %4 & fOaia af 202021 & Mg & ww= # 4=
faavoT Ut € | =,
(1) AHTE FHfed A fh_mar T 1,05,000
2) AUR | M (UEHHEAT TR HERHAT BN H o 3,10,000
ST 20,000 % Ud 3TH SMAB 65,0009 TS &
qre)
@) i@ yemS § 99 T A R =@ Yol 82,500
AT

BH B Gl AT BT TIET BT |

The following information is available about the income of a

partnership firm for the financial year 2020-21 Rs.
(1) Rent received from house property 1,05,000
%) Income from business (After deducting donation 3,10,000

to P.M. Relief fund Rs. 20,000 and advance
income tax Rs. 65000)

3) Long term capital gain on shares sold through 82,500
stock exchange
Compute firm’s total income.

COM. 203/22
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@n frafa v @ 60,000
HHATRAT PI I=Gge! d Iurfoid T HT @l

@) dHemaroM fmar AT, W] fHA I=PgSr BIW B! 1,00,000
RO T8l BT T3
AT TG IATEH R B & oIy e

([) IR™ @I | g9a oIy UH TARTe RMfud @ 1,50,000
g R ® o Joa a9 @ ¥ S a1 147 |
59 IR & ferar 7,500
(@) @R—ERET a9 2019—20 BT 3T HR YA 2,500

Compute total income of shri India limited for the assessment year

2021-22 from the following information.

&,
(1) Profits from business 10,00,000
(2)  Dividends from Indian companies (Gross) 52,000

(3)  Income from royalty for providing technical know- 25,000
how to Indian concern
A scruting of the statement of profit and loss further furnished the
following information:-
Rs.

(a) Export promotion exp. incureed. 60,000
(b) Accrued liability for staff gratuity provided in the 1,00,000

account on accrual basis , no gratuity fund has been

set-up.
(c) The company conducted research to develop a new 1,50,000

product. A laboratory for this purpose was set-up.

Total cost- debited to buliding A/C

Depreciation claim 7,500
(d) Income tax paid for the Assessment year 2019-20 2,500

P.T.O.

COM. 203/22
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Mr. Ramesh is an employee in a company at Raipur. He would receive
the following during the financial year 2021-22.

Rs.
Salary 12,00,000
Dearness allowance  4,00,000
Bonus 1,20,000,
Commission 85,000

He has paid life insurence premium of Rs. 45000 in his own life
insurance policy compute his income from salary liable to deduction of
tax at source. If he does opt new tax regime.

AAATIOR
IMRIRR & AIRH Prae W fewolt forfem |

Write a short note on Advance payment of tax.

gvug q'/ Section'C’
IO T THAT 400-450 9T<3)

Long Answer Questions (Word Limit 400-450 Words)

$PIs—I/UNIT-I
1. /91 g@=mell @ MR WR Shri India Ltd. &1 &= feiRer a9
2021—22 @1 B AR DI TUFT DIOIY |

.
(1) <99 ¥ 3> 10,00,000
2) W HEfE | AT (Fdha) 52,000

(3) TP AR R ®I qHAId] 9 o 9 M 25,000

oSN ON

S BT fIeRor @1 Bead d)A R 9 gEea o< gs—

COM. 203/22
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HAYAT/OR
HA B B TR & FFEe H AEagul 97 ® I E |

What are the important points regardings Assessment of companies.

FhIS—II/UNIT-II
IR faavol SfRael B & foIU 3Maedd Uoikg T gui BIfoTy |

Describe the documents required for filing income tax return.

JAIFT/IOR
Tty oy SR & g9smsy |

Define Best Judgement Assessment.

SHTS—III/UNIT-III
PR I, PR 91T AT BR dIET H IR 9dTsy |

Distinguish between tax planning, tax avoidance and tax evasion.

AYAT/OR
TG, BB Ud Ya) SR I FHEEd B e & Uae= 9disu |

Explain the tax planning provisions in respect of Tea, Coffee and

Rubber industries.

$HE—IV/UNIT-IV
. 1 IR # UE N A e 2| i ad 2021-22 § 98

[N

fer=forRad gTed R |

o,
qa- 12,00,000
HEIS Wl 4,00,000
CIRk| 1,20,000,
CRINE] 85,000

S8 SO Sitae 1T Uiferdl UR 45000 %, Sitas 1 Wi g |
S dad ¥ 3T B AT BT T TR ITH RIE W AR DI
Bl M1 AT A 3 HR—aUTEaRAT I AUANT 2 |

P.T.O.
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